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1) Q. No. 1 and Q. No. 6 are compulsory.
2) Solve any three questions from remaining question nos. 2, 3, 4 and 5.
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P2887 [Total No. of Pages : 4

SEAT No. :

Q1) A) Fill in the blanks (Any Five): [5]

i) India’s first passenger train started in the year ____________.

a) 1923 b) 1853 c) 1943

ii) Ocean Transport mainly facilitates _______ Trade.

a) Inland b) International c) Wholsale

iii) _______ is cheapest mode of Transport.

a) Railway b) Roadways c) Waterway

iv) Heavy and bulky goods are transported by ________.

a) Helicopter b) Truck c) Train

v) Head quarter of Air India is at ___________.

a) New Delhi b) Hyderabad c) Pune

vi) In broad gauge distance between two tracks is ______ m.m.

a) 1435 b) 1676 c) 1000

B) Match the following: [5]

i) Air Transport a) Fast mode of Transport

ii) Land Transport b) National Highways

iii) Water Transport c) Ship

iv) Kandla port d) Gujarat

v) Pipeline Transport e) Petrol and Gas

f) Chennai

g) 1960

P.T.O.



2[5801]-213

Q2) What is mean by ‘Transport’? Explain the benefits of Transport. [15]

Q3) State the benefits and limitations of Road Transport. [15]

Q4) State the features of Railway Transport. Review the progress of Indian Railway
transport since 1951. [15]

Q5) What is mean by Air Transport? State the features and importance of Air
Transport. [15]

Q6) Short Notes (Any three): [15]

a) Importance of Transport.

b) Employment opportunities in Transport sector.

c) Railway Gauge.

d) Importance of Railway Transport.

e) Significance of Water Transport.


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gyMZm …- 1) àíZ H«$. 1 d àíZ H«$. 6 gmoS>{dUo Amdí`H$ Amho.
2) àíZ H«$. 2, 3, 4 Am{U 5 `m àíZm§n¡H$s H$moUVohr VrZ àíZ gmoS>dm.
3) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) A) Jmiboë`m OmJm ^am. (H$moUË`mhr nmM) [5]

i) ^maVmVrb nhrbr àdmgr aoëdo ................ `m dfu gyê$ Pmbr.
A) 1923 ~) 1853 H$) 1943

ii) gmJar dmhVyH$s_yio ............ ì`mnma gwb^ hmoVmo.
A) Am§VX}er` ~) Am§Vaamḯ>r` H$) KmD$H$

iii) ............ hm dmhVyH$sMm gdm©V ñdñV _mJ© Amho.
A) aoëdo ~) añVo dmhVyH$ H$) Ob dmhVyH$

iv) AdOS> d _moR>çm à_mUmdarb _mb dmhVyH$ ............. Ûmao Ho$br OmVo.
A) hobrH$m°ßQ>a ~) Q´>H$ H$) aoëdo

v) EAa B§S>r`mMo _w»`mb` ............ òWo Amho.
A) Zdr {X„r ~) h¡Ðm~mX H$) nwUo

vi) ~«m°S>JoO (ê§$X_mnr) _Ü ò XmoZ aoëdo ê$im_Yrb A§Va ............. E_.E_. AgVo.
A) 1435 ~) 1676 H$) 1000

~) OmoS>çm Oyidm. [5]

i) hdmB© dmhVyH$ A) dmhVyH$sMm doJdmZ _mJ©
ii) O_rZrdarb dmhVyH$ ~) amï´>r` _hm_mJ©
iii) Ob dmhVyH$ H$) OhmO
iv) H$m§S>bm ~§Xa S>) JwOamV
v) Zi_mJ© dmhVyH$ B) noQ´>mob Am{U J¡g

\$) MoÞoB©
`) 1960
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à.à.à.à.à.2) dmhVyH$ åhUOo H$m`? dmhVyH$sMo \$m`Xo gm§Jm. [15]

à.à.à.à.à.3) añVo dmhVyH$sMo \$m`Xo d _`m©Xm gm§Jm. [15]

à.à.à.à.à.4) aoëdo dmhVyH$sMr d¡{eð>o gm§Jm. 1951 nmgyZÀ`m ̂ maVmVrb aoëdo dmhVyH$sÀ`m àJVrMr g{_jm H$am.[15]

à.à.à.à.à.5) hdmB© dmhVyH$ åhUOo H$m`? hdmB© dmhVyH$sMr d¡{eð>o d _hËd gm§Jm. [15]

à.à.à.à.à.6) {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) dmhVyH$sMo _hËd

~) dmhVyH$ joÌmVrb amoOJma g§Yr

H$) aoëdo JoO (bmoh_mJ© _mnr)

S>) aoëdo dmhVyH$sMo _hËd

B) Ob dmhVyH$sMo _hËd




